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1.calculate sin and cos for a sequence of angles in degrees (measurement units)
We have a sequence of 10 angles in degrees and need to calculate the sin and cos of angles and present the result in the following format:  angle, sin,cos
2. a+b [subroutine]
Now we are trying to use a subroutine in the program. A subroutine is a set of fortran statements and can be used independently. The subroutine has input and output parameters. Division into input and output parameters  freely. The same parameter can be used simultaneously
 as input and output. 
3. a(10) summation [subroutine]
The next task is look like so: We have the sequence of real numbers and need to find maximum and minimum numbers of this sequence
4. maximal and minimal values [plane, subroutine]
The next task is look like so: We have the sequence of real numbers and need to find maximal and minimal numbers. We  need an operator to compare values of two numbers. IF statement has been around since the beginning in FORTRAN. Takes the following form: 
IF (logical expression) then
executable statement 
endif
Relational Expressions:
.LT.       <       
.LE.       =< 
.EQ.       == 
.GE.       => 
.GT.       >
.NE.       !=
.OR.
.AND.
5. factorial [plane, subroutine, function]
The factorial can be calculated only for positive numbers.
This means that we need to check the value of the input parameter whether it is negative or not. What happens if we calculate the factorial for a sufficiently large number, for example 20. In this case, the result of the calculation is a negative number. This is not true. Just 4 bytes is not enough to store too much of an integer. How can we fix the situation? How can we increase the number of bytes that can be used? This can be done so.
6. huge, tiny
7. roots of square equation [plain, subroutine, complex]
8.  matrixies multiplication [subroutine]
9. angle between two vectors
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1. v(10) [sub.]
2. root võrrand [sub.+complex]
3.  a*b[sub]
4. On antud kaks vektorit
4a. Vektorite vektor korrutis
5.  integraal [quanc8] mugavus on selles et .
(func,a,b,abser,rlerr,result,errest,nofun,flag)
6. pi arvutamine
7. MC integraal. 
Funktsioon ‘rand()’ genereerib juhuslikud numbrid vahemikus 0-1.
See pilt asub ruudu sees. Külje pikkus on 1. Siis loome kaks juhuslikku numbrit. Nad mängivad koordinaatide rolli ja annab ühe punkti ruudu sees. Kui kogu genereeritud punktide arv on N. Punktide arv mis sattuvad kõvera all on Ns. 
